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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define the term „Cost‟. Explain the different 

components of total cost with example. Name the 

items of income and expenditure which are excluded 

from cost accounting though included in financial 

accounts. 

ykxr dks ifjHkkf”kr dhft,A dqy ykxr ds fofHkUu vaxksa dks 

mnkgj.k lfgr le>kb;sA vk; o O;; ds mu enksa ds uke 

crkb;s ftUgsa ykxr ys[kkadu esa lfEefyr ugha fd;k tkrk] 

;|fi ;s foŸkh; ys[kksa esa lfEefyr dh tkrh gSaA 

2. Discuss the various methods of pricing the issue of 

materials for production and point out their advantages 

and disadvantages. 

mRiknu ds fy, fuxZfer dh tkus okyh lkexzh ds ewY;kadu 

djus dh fofHkUu i)fr;ksa dh foospuk dhft, vkSj muds 

ykHk ,oa gkfu;k¡ crkb;sA 

3. The cost of manufacturing 5000 units of a commodity 

comprises : 

Materials ` 20,000; Wages ` 25,000; Chargeable 

expenses ` 400; Fixed overheads ` 16,000 and 

Variable overheads ` 4,000. 
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For manufacturing every 1000 extra units of the 

commodity, the cost of production increases as follows : 

Materials Proportionately 

Wages 10% less than 

proportionately 

Chargeable Expenses No extra cost 

Fixed overheads ` 200 extra 

Variable overheads 25% less than 

proportionately 

Calculate the estimated cost of production of 8000 

units of the commodity. 

,d oLrq dh 5000 bdkb;ksa ds mRiknu dh ykxr bl izdkj 

vkrh gS % 

lkexzh ` 20]000( etnwjh ` 25]000( izR;{k O;; ` 400( 

fLFkj mifjO;; ` 16]000 rFkk ifjorZuh; mifjO;; 

` 4]000A 

bl oLrq dh izR;sd 1000 vfrfjDr bdkb;ksa ds mRiknu ds 

fy, mRiknu ykxr esa fuEu izdkj ls òf) gksrh gS % 

lkexzh vkuqikfrd :i esa 

etnwjh vuqikr ls 10 izfr’kr de 

izR;{k O;; dksbZ vfrfjDr ykxr ugha 

fLFkj mifjO;; ` 200 vfrfjDr 

ifjorZuh; mifjO;; vuqikr ls 25 izfr’kr de 

bl oLrq dh 8000 bdkb;ksa ds mRiknu dh vuqekfur ykxr 

Kkr dhft,A 
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4. A product passes through three distinct processes for 

its completion. During the month of January, 2016, 

500 units were produced. The cost books show the 

following information : 

 Process A 

(`) 

Process B 

(`) 

Process C 

(`) 

Materials  3,000 1,500 1,000 

Labour 2,500 2,000 2,500 

Direct Expenses 500 2,100 905 

The indirect expenses for the period were ` 1,400. The 

by-product of process B was sold for ` 145 and 

Residue of product C was sold for ` 165. Prepare the 

account in respect of each of the processes showing its 

cost and the cost of finished product per unit. 

,d mRikn fuekZ.k iw.kZ gksus ls igys rhu izfØ;kvksa ls 

xqtjrk gSA tuojh] 2016 ekg esa 500 bdkb;ksa dk mRiknu 

fd;k x;k FkkA ykxr ys[kk iqLrdsa fuEufyf[kr lwpuk izdV 

djrh gSa % 

 izfØ;k ^v* 

¼`½ 

izfØ;k ^c* 

¼`½ 

izfØ;k ^l* 

¼`½ 

lkexzh 3,000 1,500 1,000 

Je 2,500 2,000 2,500 

izR;{k O;; 500 2,100 905 
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bl vof/k esa vizR;{k O;; ` 1]400 FksA izfØ;k ^c* dks 

miksRikn ` 145 esa cspk x;k rFkk izfØ;k ^l* dk miksRikn 

` 165 esa cspk x;kA izR;sd izfØ;k dk [kkrk] bldh ykxr 

rFkk fufeZr mRikn dh izfr bdkbZ ykxr fn[kkrs gq, rS;kj 

dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

Answer of these questions must be restricted to two 

hundred fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj nks lkS ipkl ¼250½ ‘kCnksa ls 

vf/kd ugha gksuk pkfg,A 

1. Distinguish between cost sheet and cost statement. 

ykxr i= vkSj ykxr fooj.k esa vUrj Li”V dhft,A 

2. Discuss the semivariable cost. 

v)ZifjorZu’khy ykxr dh foospuk dhft,A 

3. Write a short note on Perpetual Inventory System. 

fujUrj LdU/k iz.kkyh ij ,d laf{kIr fVIi.kh fyf[k,A 
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4. What is the difference between the work certified and 

work uncertified in contract accounts ? 

Bsdk [kkrksa ds vUrxZr izekf.kr dk;Z rFkk vizekf.kr dk;Z esa 

D;k vUrj gS \ 

5. Find out the number of units initially introduced in 

process 1, when normal wastage is 10%, 5% and 8% of 

the input in process 1, process 2 and process 3 

respectively. There are 3933 units of the finished stock. 

There was no abnormal loss or effectiveness in any of 

the process. 

izFke izfØ;k esa izkjEHk esa fuxZfer dh x;h bdkb;ksa dh 

la[;k Kkr dhft, tc lkekU; {k; izfØ;k 1] izfØ;k 2 

rFkk izfØ;k 3 esa yxkbZ xbZ bdkb;ksa dk Øe’k% 10] 5 ,oa 8 

izfr’kr gSA fufeZr LdU/k 3933 bdkb;ksa dk gSA fdlh izfØ;k 

esa dksbZ vlkekU; gkfu ;k vlkekU; cpr ugha FkhA 

6. Form the following information, calculate total kms 

and total passenger kms : 

No. of buses  10 

Days operated in the 

month 25 

Trips made by each bus 02 

Distance of route 30 kms (one side) 

Capacity of Bus 80 Passengers 

Normal passengers 

travelling 90% of capacity 
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fuEufyf[kr lwpuk ls dqy fdyksehVj rFkk dqy iSlsUtj 

fdyksehVlZ dh x.kuk dhft, % 

clksa dh la[;k 10 

ekg esa pyus ds fnu 25 

izfr cl }kjk fd;s x;s [ksi 02 

ekxZ dh nwjh 30 fdyksehVj ¼,d rjQ ls½ 

cl dh {kerk 80 ;k=h 

;k=k djus okys lkekU; 

;k=h {kerk ds 90 izfr’kr 

7. Distinguish between Financial Accounts and Cost 

Accounts. 

foŸkh; ys[kkadu rFkk ykxr ys[kkadu esa vUrj Li”V dhft,A 

8. Prepare a reconciliation statement from the following 

data : 

   ` 

Net loss as per Cost Accounts 1,75,000 

Net loss as per Financial Accounts 2,08,370 

Depreciation overcharged in Cost 

Accounts 1,300 

Works overhead underrecovered 3,120 

Interest on investments 8,750 

Income Tax paid 40,300 
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fuEufyf[kr lwpukvksa ls ,d lek/kku fooj.k rS;kj dhft, % 

   ` 

ykxr ys[kksa }kjk izdV ‘kq) gkfu 1,75,000 

foŸkh; iqLrdksa ds vuqlkj ‘kq) gkfu 2,08,370 

ykxr ys[kksa esa vf/kd pktZ fd;k x;k kl 1,300 

dkj[kkuk mifjO;; de olwy fd;s x;s 3,120 

fofu;ksxksa ij C;kt 8,750 

vk;dj pqdrk fd;k 40,300 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. In FIFO method, closing stock is valued at oldest 

prices of materials. 

QhQks i)fr esa vfUre LdU/k dk ewY;kadu lkexzh ds lcls 

iqjkus ewY; ij fd;k tkrk gSA 
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2. In Taylor‟s differential piece rate plan, time wages are 

guaranteed to each worker. 

Vsyj dh foHksnkRed dk;Z nj ;kstuk esa izR;sd Jfed dks 

le; etnwjh dh xkj.Vh gksrh gSA 

3. Profit or Loss on sale of fixed assets is included only in 

financial accounts but not in cost accounts. 

fLFkj lEifŸk;ksa ij ykHk ;k gkfu dks dsoy foŸkh; ys[kksa esa 

lfEefyr fd;k tkrk gS fdUrq ykxr ys[kksa esa ughaA 

4. Machine Hour Rate method is the method of 

absorption of Factory Overheads. 

e’khu ?k.Vk nj i)fr dkj[kkuk mifjO;;ksa ds vo’kks”k.k dh 

,d i)fr gSA 

5. Abnormal gain is written on the credit side of the 

process accounts. 

vlkekU; cpr izfØ;k [kkrs ds /kuh ¼ØsfMV½ i{k esa fy[kh 

tkrh gSA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. The head office of The Institute of Cost and Works 

Accountants of India is situated in ................ . 

(a) New Delhi 

(b) Mumbai 

(c) Kolkata 

(d) Bangalore 
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n bULVhV~;wV vkWQ dkWLV ,.M oDlZ ,dkmaVsaV~l vkWQ 

bf.M;k dk eq[; dk;kZy; 
---------------------

 esa fLFkr gSA 

¼v½ ubZ fnYyh 

¼c½ eqEcbZ 

¼l½ dksydkrk 

¼n½ cSaxyksj 

7. If profit is 50% of sales, then it will be ..............% of 

cost. 

(a) 100 

(b) 75 

(c) 60 

(d) 25 

;fn foØ; ij ykHk 50 izfr’kr gS] rks ;g ykxr dk 
------------------

 

izfr’kr gksxkA 

¼v½ 100 

¼c½ 75 

¼l½ 60 

¼n½ 25 

8. If cash received on any contract account amounted to 

` 1,50,000 being 80% of the work certified, then 

amount of work certified will be ` .............. . 

(a) 1,20,000 

(b) 1,87,500 

(c) 30,000 

(d) 1,80,000 
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fdlh Bsds ij ` 1]50]000 izkIr gq, tks izekf.kr dk;Z dk 

80 izfr’kr gS] rks izekf.kr dk;Z dh jde ` 
---------------------

 gksxhA 

¼v½ 1]20]000 

¼c½ 1]87]500 

¼l½ 30]000 

¼n½ 1]80]000 

9. If the total operating cost of a vechicle is ` 2,400 and 

per kilometer cost is ` 0.03, then distance covered by 

the vehicle will be ............ km. 

(a) 72 

(b) 80000 

(c) 960000 

(d) None of the above 

;fn fdlh okgu dh dqy ifjpkyu ykxr ` 2]400 gS ,oa 

izfr fdyksehVj ykxr ` 0-03 gS] rks okgu }kjk dqy r; dh 

xbZ nwjh 
---------------------

 fdyksehVj gksxhA 

¼v½ 72 

¼c½ 80000 

¼l½ 960000 

¼n½ mi;qZDr esa ls dksbZ ugha 
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10. In which of the following methods, material is issued 

at the latest price prevailing in the market ? 

(a) LIFO method 

(b) FIFO method 

(c) Replacement price method 

(d) Weighted average method 

fuEukafdr esa ls fdl fof/k ds vUrxZr lkexzh dk fuxZeu 

cktkj esa izpfyr ewY; ij gksrk gS \ 

¼v½ yhQks fof/k 

¼c½ QhQks fof/k 

¼l½ izfrLFkkiu ewY; fof/k 

¼n½ Hkkj’khy vkSlr fof/k 
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